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Class – X
Subject – Science
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[image: image2.png]12) Give differences between myopia and hypermetropia?

Ans:

13)

14)

Ans:

15)

15)

myopia

Hypermetropia or long-sightedness

Caused: due to elongation of the eyeball or
eye lens. Excessive curvature of the eyeball

Cause: Caused due fo flattening of the
eyeball (eye ball is too small)
Focal length of eye lens is too long

Gbservation: Distance_between eye lens
and retina is greater. The person can see
nearby objects clearly but cannot see the
distant objects clearly. Image of distant object
is formed a litle in front of the retina, instead
of on the retina itself The far point is nearer
than infinity.

Observation: Distance between the eye lens
and retina is less. The person can see
distant objects clearly but cannot see nearby
objects clearly.

Image of distant object is formed on the
retina, but the image of a nearby object is not
formed on the retina

The near point is further away than 25 cm

Remedy: By using spectacles having
concave lenses of suitable focal length this
defect can be corrected Produces divergence
of the rays so that image of distant object is

Remedy: By using spectacles having convex
lenses of suitable focal length this defect can
be corrected

Produces convergence of the rays, so that

formed on the retina the image of a nearby object s formed on the
retina

Atomic radi of the elements of the second period are given below:
Period Il elements B Be 0 N 0
Atomic radius (pm) 88 T 66 74 152

) Arrange them in decreasing order of their atomic radi

ii) Which elements have the largest and the smallest atoms?

iii) How does the atomic radius change as you go from left to right in a period?

i Li, Be, B, C,N, O

ii) Li - Largest; O — smallest

iii) Decreases

Name the type of mirror used in the following situations, why?

(a) Headlights of a car (b) Side / rear — view mirror of a vehicle (c) Solar furnace.

a) Concave mirrors are used to get powerful parallel became of light

b) Convex mirrors are used as they give an erect image of the vehicles and they have wider field

view as they curved outwards

¢) Solar furace uses large concave mirror to concentrate sunlight and produce heat  [1 each]
On the basis of electronic structure, define metals and non — metals giving suitable
examples. 5]
On the basis of electronic structure, we see that (i) Metals have 1 to 3 electrons in the outermost
shell of their atoms and (i) Non — metals have 4 to & electrons in the outermost shell of their
atoms |}
For example: Element A is having atomic number 13 and B is having atomic number 16 we can
predict which is metal and which is non — metal on the basis of electronic structure. [}
Electronic configuration of A = 2, 8, 3 and Electronic configuration of B = 2, 8, 6. [}
Hence A has 3 electrons in its outermost shell of its atom while B has 6 electrons in the
outermost shell of its atom. Therefore A is a metal while B is a non — metal. On the basis of ion

formation we can define metals and non — metals as follows:

Metals: “The element which forms positive ion by losing electrons is called metal” 0}
Non-metals: “The element which forms negative ion by gaining electrons is called non —
metals” |}

OR

An organic compound A of molecular formula CH:0 on oxidation gives an acid B with

the same number of carbon atoms in the molecule as A. Compound A is often used for
sterilization of skin by doctors. Name the compounds A and B. Write their structural

formula and give the equation involved in the formation of B from A. ]
A’ compound s Ethanol (C.HsOH) because ethanol is used as antifreeze and for sterilization of

skin. 'B' compound is Ethanoic Acid (CHCOOH) because ethanoic acid is formed by the

oxidization of ethanol 2

i

Structural formula of C;HsOH

|
H-C-C-0-H

[

H H

Chemical equation: C,HsOH + [0] —ciiekno,

Structural formula of CH.COOH

[l

H—C—C—0—H
| [1+1]
H

CH,COOH + Hz U}




[image: image3.png]16) Explain the construction and working of an A.C generator?
Ans: Generator:

16)

Ans:

17)

In an electic generator, mechanical energy is used o PN
rotate a conductor in'a magnetc field to produce
electricity
Construction
An slectric generator, consists of a rotating rectangular
coil ABCD placed between the two poles of a .z
permanent magnet
The two ends of this col are connected to the two rings
R, and R,
The inner side of these rings are made insulated
The two conducting stationary brushes B, and B, are
kept pressed separately on the rings R, and R;, respectively
The two rings R, and R, are interally attached to an axle
The axle may bé mechanicaly rotated from outside to rotate the coil inside the magnetic field
Outer ends of the two brushes are connected to the galvanomter to show the flow of current in
the given external circuit [Dia 2 + exp 3]
orR

Derive an expression for 3 resistances connected in parallel
When a number of resistances are connected between two common points so that the potential
difference across each of the resistances s the same, the combination is called a paralel
combination of the resistances
Three resistances R, R, R, are connected in parallel between two common points X and Y’
Thus the potential diffsrence across each of the resistances is the same
The cell (), plug key (K), ammeter and voltmeter are also connected in the circtit
Let R, be a resistance whose effect is the same as that of the combination of R,, R, R
As current gets distributed, 1= I, + T, + 1,

v v v v
Accordingto Omislaw, 1 = g Ty = £ Ty = - and 1= -
Combining these equations with the above equation, we get,

[4 marks]

The reciprocal of equivalent resistance is

the sum of reciprocal of individual 1 £ 1

resistances when resistance is " _

connected in parallel. HHF——6

R, is less than individual resistance. U]
Section

From the list given below, pick out the items which cannot be reused? M

Newspaper, Plastic cup, Book, Nylon net, Left-over tablets,

Ans: Left-over tablets
18) Study the diagram and label the parts numbered 1 and 2
Ans: 1) Effector 2) Sensory neuron
19) Why is the hormone thyroxin so important s 0]
Ans: Thyroxin regulates carbohydrates, protein and fat metabolism in the body so as to provide the
best balance for growth [1]
20) Give any four applications of Solar cells. 121
Ans: i) Artficial satellites i) Space probes like mars orbiters iii) Radio
iv) Wireless transmission systems V) TV relay stations  vi) Traffic signals
vii) Calculators vii) Toys lany 4, ¥each]
21) i) Where do formation of sperms and eggs takes place? 121

Ans: Sperms — Testes, Eggs — Ovaries [1+1]
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How is inspiration and expiration brought about in humans? 2
Mechanism of Breathing: Breathing consists of two phases i.e. inspiration and expiration
Inspiration (Inhalation): When we breathe in, the air from outside rushes into the alveoli of the
lungs. During this process, the diaphragm is pulled outwards, thereby increasing the volume
inside the thoracic cavity, as the inter—costal and the diaphragm muscles contract. The pressure
decreases due to which the air rushes in 1
Expiration (Exhalation): Carbon dioxide is pushed out through the lungs as the diaphragm
muscles relaxes and comes back to its normal position, due to which the pressure increases
inside the thoracic cavity and the air moves out 11
Write the stakeholders of forests and wild-life? 121
The stakeholders of forests and wild life are as follows:

i) The People who live in or around forests.

ii) The Forest Department of the Government

iii) The Industrialists who use various forest produce as raw material

iv) The Enthusiasts who want to conserve wild life and forests. [% each]
Study the diagram and label the Endocrine glands numbered 1, 2, 3, 4 121
1) Pituitary gland
2) Thyroid gland
3) Adrenal gland

4) Pancreas [% each]
[ |
‘ ﬁsug
4 i\
a) Caption the diagram (%]
Food chain in nature
b) Define the term given in above answer M

Food chain — A sequence of living organisms that shows interdependence of organisms for their

food is called food — chain.

t
b?“;\.
T

7
Sl

¢) Define food-web. 0]
Anetwork of inter-connected food-chains in an ecosystem is called a food-web.

Describe Homologous and Analogous organs. How do they provide evidence in support
of evolution? 131
Homologous Organs: Homologous organs are those, which are common in origin but may
have different functions 2]
Evidence: The similarities indicate that all these vertebrates had common ancestors

They exhibit divergent evolution.

Examples of homologous organs such as forelimbs of vertebrates have similar. development
although the structural and functional details vary.

Analogous Organs: Analogous organs are those which are different in origin but similar in
function 2]
Evidence: They exhibit convergent evolution.

Examples include wings of bird and that of an insect

Bird's wings are supported by skeleton, flesh and feathers.

The insects have a fold of membrane as wing associated with few muscles. 1

i
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